
 

Chapter -6 

The People 

Choose the Correct Answer. 

1. ______ percent of working people in India are in the unorganized sector. (  ) 

A) 75   B) 92   C) 96   D)74 

2. Sex ratio is the no. of females per ________ males in the population.  (  ) 

A) 1,000  B) 100  C) 10,000  D) 1, 00,000 

3. Women and girls in particular face unequal opportunities for-   (  ) 

A) Wealth   B) Education and Development C) Family Status    D) None  

4. The state ____________ has positive sex ratio.     (  ) 

A) AP  B) Kerala  C) Lakshadweep  D) Andaman and Nicrobar  

5. The literacy rate in 2011 is _______.       (  ) 

A) 74.04%   B) 73%  C) 75%  D) 80% 

6. Working age is __________ years.       ( ) 

A) 15-39  B) 14-59  C) 15-59  D) 13-59 

7. In India _____ female babies are born against the 100 male babies.  (  ) 

A) 103  B) 100  C) 95   D) 90 

8. A person aged ____ years and above who can read and write with understanding in any 

language is treated as literate.        (  )  

A) 4   B) 5   C) 6   D) 7  



 

Answers  

1) B  2) A  3) B  4) B  5)A  6) C  7) A  8) D 

Fill in the Blanks.  

1. The ideal of equality is used with reference to ___________________. 

2. The people who work in the ________________ sector have to struggle for work. 

3. Census of India is a ___________ organization. 

4. __________do not earn their income. 

5. Children and the aged often depend on the ________ of working age groups. 

6. ________groups also depend on their families for support in old age. 

7. The _______ expenses of aged group are higher than that of other age groups. 

8. Birth rate is the no. of ______ births per 1,000 persons in a year. 

9. Death rate is the no. of deaths per 1,000 persons in a_____. 

10. India’s population has been steadily________. 

Answers  

1) People  2) unorganized  3) Central govt. 4) Children  5) earnings    

6) Aged  7) Medical   8) live   9) year 10) Increasing 

 



 

Match the Following.  

1. The first census    [  ] A) for every 10 years  

2. The first complete census  [  ] B) 3.28 million sq.km 

3. Census     [  ] C) 2021 

4. 1.29 billion people   [  ] D) 1872 

5. Next Census    [  ] E) 1881 

Answers 

1) D  2) E  3) A  4) B  5) C 

1. Literacy rate in 1947   [  ] A) 65.46%  

2. Literacy rate in 2001   [  ] B) 74.04% 

3. Literacy rate in 2011   [  ] C) 82.14%  

4. Men Literacy rate in 2011  [  ] D) 12% 

5. Women Literacy rate in 2011 [  ] E) 64.84% 

Answers 

1) D  2) E  3) B  4) C  5) A 

 

 

 

 


